Joooooooon

obobooooooboobooobooooooboooooooboooboobooboboobooooboo
obooooOobooooobobooobooboooooboobooooooo

1 JO000o0DoOooo

00 1.1. X0O00OO0OO0O0O0O0o0o
e I=[0,1]00000000000XxI/0X000000
e CX=XxI/Xx{1}0X000000O

e XX =CX/Xx{0}0 X0000000O

Oo00f: X —YOOOOOOOOOOO
fx1lp: XxI—YXxI

O000Cf:CX —CYOXf:¥X — Xy 0000000

ooboooooooboooooboooboobOooobooobOoobOooboobOoobOoooboooboo
gobooooboooobooooboooboobooobooboobooboobOoboobooboobobOoD
bobooboooobooboooobooooboboooboobooooobooooonon

00 1.2. 00 X000 2 00000000000(X,z)000000000000000
e XxI=XxI/{zo}xI0O XO0OODOOODOO
e CX=XxI/Xx{1}U{z}xI 00000000 X00000000O
e X =X xI/Xx{1}UXx{0}U{ze}xI 0 XO0O0O0O0O0OOODO

00000000ooooooooooooDD «00000000000d0o0o0ooooooOog exo
YXO00O00DoOooooooooooooooooooooooooooooooooooooooooo
000000000000 00000f: (X,z) — (Y,yo)UOOOOOOO f: X — YO f(zo) = yo
ocoooooogo
fx1lp: XxI—YxI

O00XXI —YxIOCX — CYOYX — Xy 0oooooon

00000000000000000000000000000CS'*=2Dp?20000xst=52000
obooooooooogon

00 1.3. Ccs~l~propoOoOoxsttl=s 0000



00 S '={zeR"||z|=1}0D"={zcR" ||| £1} 0000
f:8""tx I — D"

00f(z,t)=(1-t)20000000000CS™ ! — D"O0000000000000O0DOO0OOOOOO
0D00ooO0es* 0000000 pr0000000000000000000dg: S" 'xI— S™

oo
1

t =
9@ = Sa =1
DOODD0D0 $$™! — S"000000 O

t(1 —t)a, 2t — 1)

O00ooooooooooooo
00 14. :: X — X xI00i(z)=(2,1)000000000OO0OOOOOOOOOOOO
00 p: XxI—X0O0OUOOOOOUOOOUOOOp(z,t)=20000000poi=1x0000
H: XxIxI—XxI
O0H(x,t,s)=(x,1 —ts) 000000000 1xx; O iopl000000O0OOOOO O
OO0 156 XO0OOOOOOOOCcXxooooooo
00 CXOU [»1]000000000000O00 14000000000
H: X xIxI]I—XxI
O00CXxI—CXUO00O0OO[z,1]00000000000O0OO O

goooooobooooobobooooobobooooboooboooooboobobooooDbDOoboooog
0000000000oo0o0ooDo0oo0ooOoooooooooooo(,o,---,0000000000
gobooobooooooooooooobooooobooooooooooboobobooboooboon
obooooboobooobobobooooboo

oobooooobooooooobooobooobooooboooboooboooboOoobOooboobooDboo
gbobooboboobooboooooboooobobooobooboooobobooobOoboooon

2 JUooouoboood

uobooboobooboobooboobooboobooboooboobooobooboo
gboboobOoboooboobooooboooooboobooboOobooooboooo

00 2.1. XO0OOOOD0DACX0O0O0OOOOODODOOOOOf:A—YOOOODOODOODOO
Xup Y =Xx[Jv/~
00000000002~y 0 f(z)=y000000000000Y 0 X0 f000000000000O
000000000000000000000000000000000
00 22 f:X —YOOOODOOOODOOf:Xx{0}—YOODOOO
My=(XxI)U;Y
00000f00000000000C;=CXuU;Y0 f00000000

2



00000 XX xxI0O0OOOooOooooo

0o 23.::Y —M,00iy)=y000000000000D00000O0O0O0OO0OOO

3 uutooooobgd

00 3.1. {(Xx,zx)hea000000000000000

\/ X» &« 11 x» / [T {3

AEA AEA AEA

O0000{X }heaOOOOOODODOOO
00 3.2. (X,z0),(Y,5) 00000000000

XVY 2 X x{y}U{xg} xY
0000000 XxYQOUODOoooooo
00 X=X x{yy0Y = {20} x Y 000

XVY 22X x{ytU{axg} xY
ooooooo O
0 3.3.vS'OOODOOOO0ODOO0OOO0OOO
00 3.4. (X,z0),(Y,5%) 00000000000

XANY=XxY/XVY
oooooXoyoobooooooooo

0 3.5. ™A S™ = gntm

00 000000000000000000000S"=tD"ux00000000000
S™ x 8™ = Int(D™ ™) U (IntD™ x *) U ({*} x IntD™) U ({*} x {*})
00000000000000000000000000000000000000

ST AS™ = 87 % S™/S" x {¥} U {x} x §™ 22 Int D™ U {5} = gntm

00 3.6. XO0OOOOOOOOOOOOZXXAS!

00 1/{0,1}=S'00000000000XX00XAS'00000 XxI0D0000000000
00X xI0000000%X=XAS'0000000000000000 O



